d-A-28-2

2l i iy A m B 2y AV Ferrite cores

VIR FITFANITY T wwer-2asmmzv—am) NFT-20-20DK

One touch ferrite clamp (split sleeve core with plastic case)

5 R Features
B N\SREER TR —ARABICEBIRE 7T o4 O T7 1M
DEWVEEEGHE>TVET,
B ESERENZNO7E#FERT 3 lck Y. BEFREEEHORES T
H@EtELFE LT
B A7 a28—Y (NFTF-20-M4) (kY. MARIBEARTLET
RAEICT—ADBEC T EERFIELET,

Even when separate wires are installed, the structure prevents the wires from getting caught
in the ferrite core when the resin case is assembled.

g
2
.
~p
n
()
=
n
(7

RoHS4%# A high-permeability NiZn core is used to improve attenuation in low frequencies.
ﬂ compliant An optional part (NFTF-20-M4) allows fixing with M4 screws to prevent the case from opening
accidentally.
D r— AME /Case material....... PA66 (UL94V-0) or PA6 (UL94V-0) 42.0) ‘ (58.2)
?21 (51.4)

) & (7 —2R) /Clor (case)........ A k'L —Light gray

W EEE (ERESHZAT)
= Fitting (mounted with screw ) NFTF-20-M4

) HE /material....... PA6 (UL94V-0)

0 & /Color........ =4 b4 L—/Lightgray

B NFT-20-20DKICT &2y FTCEETE MAEXTEE - B L
DNCTEFT,

B UK, BigE 2 LIDREETEII D TEE T,

It can be attached to NFT-20-20DK with one touch, and can be fixed and removed using
M4 screws.

The hinge structure allows installation with the wire turned.

E=p

|
|
1}

(42.5)

BAFFR (M4 22)

Hole size (M4 screw hole) 16.5

56.5+0.4

O &

(45)

1 V=37 A5 Impedance characteristics

2000

1000

21

1T

100 /

(0) duepadw] N\ —mV A

l

1 10 100 500
JAREL Frequency (MHz)

TIKIK TAKEUCHI INDUSTRY Co. Ltd Head office :TEL.+81-3-3727-1931/7721 FAX.+81-3-3727-1961/6881

T 2 & 4t : TEL.03-3727-7721 (f{) FAX.03-3727-6881 X BR & % Fi: TEL.072-631-5111 FAX.072-631-5112
I(I( Tﬁ- l*-l L ¥** it = *i HHEEEM : TEL.052-262-2617 FAX.052-262-2618 &% [E & % Pr: TEL.055-981-3551 FAX.055-981-3553



JxoA b aA77ARETY

Optional part (for split sleeve cores with plastic case)

d-A-03-6

Ferrite cores

A T3 IN—"Y sr—zavs8z0—7278)

g
2
.
~p
n
()
=
n
(7

NFT2 U —XBIGY 5> T« UA—RINV K (F T3 >ViIN—Y)

Product code Compatible clamps Compatible reusable ties
* RLWC-3SVO - RLWT-3VO0
NFT-4xxx “RLSC-3VO  + RSPC-3xxP.3xxS * RST130V0
NFT-6 x-xx * RLWC-55V0 - RLWT-5V0
NFT-75%-xx “RLSC-5V0 - RSPC-3xxP.3xxS * RST130V0
NFT-8 x-xx * RLWC-6SVO - RLWT-6VO0 + RST-130V0
NFT-9Sx-xx * RLWC-6SV0  + RLWT-6V0 - TL-25A + RST-130V0 - RST-190B
NFT-10 x-xx * RLWC-6SV0 - RLWT-6VO0 + RST-130V0
NFT-11 - - RST-190B
NFT-12 x-xx + RLWC-75V0 -+ RST-190B
NFT-13Sx-xx - - RST-190B
NFT-14 x-xx - -
NFT-20-20DK - -

FFavin—y
Optional parts

FBS-1T
FBS-1T
FBS-1T
FBS-1T

NFTCA-13S-10PC

NFTF-20-M4

RLWC {1
Example with RLWC attached

=TI\ FZ$5E (abletie holder

RST-130V0 BRI

Example with RST-130V0 attached

FBS-1T

PA66 (UL94V-0)
>4 +J L—/Lightgray

) 78 Material.......
D) & /Color......

13.6

[ B3437 Unit:mm ]

»
o

B NFT-8(B). -10(B). -11. -12(B). TFT-2740150% — R ICEUTHHRE T,

The holder can be mounted on the case of NFT-8(B), NFT-10(B), NFT-11, NFT-12(B) andTFT-274015S.

54
34

VIRYFITTZA ISV TEFEER Onetouch ferrite clamp fixture

1.2

32

Spangill

NFTCA-135-10PC

mM)hx (M3) AR

PA66 (UL94V-2) 90° flush recess

) 78 /Material......

for M3 screw
+F 21>/l /Natural

D) & /Clor...........

B NFT-13Sx-Xx x &V Z Y FTEE - WIA LD TEZT,

NFT-135x-xx can be fixed / removed with one touch.

B EEEEINET - TR CLESEHBTEET,

The fixture can be used in conjunction with adhesive tape fixed and screw fixing.

[35.7]

[38.3]

MEGET — 7 34.9

A double-side adhesive tape

TIKKK TAKEUCHI INDUSTRY Co.,Ltd

TKK AT E%RXS4

& #t 1 TEL.03-3727-7721 (f{) FAX.03-3727-6881
HHEEEM : TEL.052-262-2617

[ 8417 Unit:mm ]

26.6

IR
Release paper

Head office :TEL.+81-3-3727-1931/7721 FAX.+81-3-3727-1961/6881

A BR & 2 P TEL.072-631-5111
FAX.052-262-2618 &% [ & % Fr: TEL.055-981-3551

FAX.072-631-5112
FAX.055-981-3553



